Algebra lI-Chapter 9.3-9.5 Name
Simplify by factoring then canceling
L 10x? ) a’-4 X+ 42
" 25x " a?-5a+6 7x—42
Multiply
3ab  5ab? 6 a’?-b®> 16 16ab®  5(c - 4)
a%°® 15ab T4 a+b 25(4 —c) 12a%c?
Divide
2 2 2 _
dyw | yw” 10, % . X 17, & -8 2a-9
k3 2k? X2 -4 X+2 a’-36 a+6

8.

12.

4 g2 +7g-18
g% +129 +27
e -25 3e-12

e2+e—20 e2—10e+25

Add the following fractions. Simplify your answer completely by factoring and then canceling

13, 2, 14, 2H1 x+4 15, X, 8
5 5 3 Xx+h x+h
17. 2.2 7n_5n 19, X5, x+2
2 2 10 7 5

X2 +x-2 . X2 +2x -3
X2 +5x+6 X2 +7x+12
16. 4a—6+6a—8
2a+2 2a+2
20 5x—6+x+2
12 4




25.

+
X+2 X+3

2X+5 2
+

28.
x> -9 x-3

,y -1 2t-3 0y 5 T
2 4 6ab 8a

3 8
a—-4 a-5

26.

27.

30.

X+5 x-5

4x + 3

_x+3

X2 —x—2

X—2



